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1 4 4 [ U hE BE— {bLZESS 95 =3 24.70 ( 0.53)
2 4/5 B R EAR EER XiBEZH&ESC 97 =2 25.19 ( 0.56)
3 34 % E AL & A4 UEBE 95 =3 25.31 ( 0.53)
4 3/ 5 #MEN #HARE—ER MHIVERFIR 96 =2 25.40 ( 0.49)
5 4/ 3 F FE EX2) aFIHE 96 =2 25.44 (0.61)
6 /8 W K KB & F—B1G 96 =2 25.53 ( 0.59)
7 2/4 % B X =z ERHS S 95 =3 25.62 ( 0.54)
8 3/ 3 B X0 EE IR 25 95 =3 25.66 ( 0.51)
9 4/6 £ [E g B JSS=K 97 =2 25.72 ( 0.58)
10 2/ 3 & % ILHE iR HILER 97 =2 25.73 ( 0.46)
11 47 % B B B 14 k< 2EI 96 =2 25.74 ( 0.55)
12 37 % B & WMH BBV 97 =2 25.76 (0.47)
13 2/ 1 BRI FHEZN NECGSCiEamO 96 =2 25.86 ( 0.58)
14 3/ 8 #MEl HE H#%F #Am T Kkt 96 =2 25.88 ( 0.61)
15 4/ 2 timE THE RE JFHILS S 96 =3 25.90 ( 0.54)
16 /2 ® W WK BA VP ETPEEL =2 25.99 ( 0.55)
17 /4 F W HKE s SA&E 96 =2 26.01 ( 0.49)
18 2/5 B IR EE BE HREF—LA 96 =2 26.13 ( 0.52)
19 2/ 6 %8 [ #&O g JS SHiEE 96 =2 26.14 ( 0.59
20 /3 ® R HE &% {MVEBHIDFZ 95 =3 26.15 ( 0.50)
21 31’ = HLBREEMH #MS S 96 =2 26.24 ( 0.49)
22 2/2 R R IIBE #E— J71)aSS 95 =3 26.26 ( 0.47)
23 4/ 8 & B EAR thiE BEXS 96 =3 26.27 ( 0.58)
24 /7T ® T BIRKIER HESC 96 =2 26.28 ( 0.58)
24 2/ 8 ® IR M BEA tyhVE B 96 =3 26.28 ( 0.58)
26 /5 & # BEE ZE— fBEIXKEHE 95 =3 26.29 ( 0.64)
27 2/1 # H X5 #t# #Y7+SC 96 =2 26.34 ( 0.58)
28 /6 %8 M 5% *3} REXAME 95 =3 26.36 ( 0.54)
29 41 0 B {FE OBEA Z4vVEREF 96 =2 26.40 ( 0.56)
30 /1 | # A WME BEEK 96 =2 26.47 ( 0.56)
32 % M OBEIL Bt PRERXBPERES 97 =2 EiE
3/ 6 & R ik 2] ERSSHE 9 =3 ZEiE
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